Midlothian Council

Transfers Report

This report contains the transfers results.

Valid Votes
Positions to be Filled
Quota

Ward 4 - Midlothian West

3 1,541

6,162

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Richard Philip CHANDLER	Scottish Liberal Democrats	400
Andrew COVENTRY	Alba Party	74
Russell IMRIE	Labour and Co-operative Party	1,645
Pat KENNY	Scottish National Party (SNP)	1,149
Kelly PARRY	Scottish National Party (SNP)	1,126
Jill SIMON	Scottish Green Party	624
Pauline WINCHESTER	Scottish Conservative and Unionist	1,144
	Total	6,162

Candidate Russell IMRIE Elected with 1,645 votes, being in excess of the quota of 1,541

This report contains the transfers results.

Stage 2 - Surplus of Russell IMRIE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Richard Philip CHANDLER	492	0.06322	31.10424
Transfer to Andrew COVENTRY	33	0.06322	2.08626
Transfer to Pat KENNY	147	0.06322	9.29334
Transfer to Kelly PARRY	88	0.06322	5.56336
Transfer to Jill SIMON	202	0.06322	12.77044
Transfer to Pauline WINCHESTER	280	0.06322	17.70160
No further preference	403	0.06322	25.47766
Not transferred due to rounding			0.00310
	Total		104.00000

This report contains the transfers results.

Stage 3 - Exclusion of Andrew COVENTRY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Richard Philip CHANDLER	9	1.00000	9.00000
Transfer to Pat KENNY	18	1.00000	18.00000
Transfer to Kelly PARRY	12	1.00000	12.00000
Transfer to Jill SIMON	12	1.00000	12.00000
Transfer to Pauline WINCHESTER	6	1.00000	6.00000
Transfer to Richard Philip CHANDLER	17	0.06322	1.07474
Transfer to Pat KENNY	1	0.06322	0.06322
Transfer to Jill SIMON	7	0.06322	0.44254
Transfer to Pauline WINCHESTER	3	0.06322	0.18966
No further preference	17	1.00000	17.00000
No further preference	5	0.06322	0.31610
Not transferred due to rounding			0.00000
	Total		76.08626

This report contains the transfers results.

Stage 4 - Exclusion of Richard Philip CHANDLER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Pat KENNY	29	1.00000	29.00000
Transfer to Kelly PARRY	15	1.00000	15.00000
Transfer to Jill SIMON	115	1.00000	115.00000
Transfer to Pauline WINCHESTER	146	1.00000	146.00000
Transfer to Pat KENNY	25	0.06322	1.58050
Transfer to Kelly PARRY	15	0.06322	0.94830
Transfer to Jill SIMON	144	0.06322	9.10368
Transfer to Pauline WINCHESTER	156	0.06322	9.86232
No further preference	104	1.00000	104.00000
No further preference	169	0.06322	10.68418
Not transferred due to rounding			0.00000
	Total		441.17898

This report contains the transfers results.

Stage 5 - Exclusion of Jill SIMON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Pat KENNY	161	1.00000	161.00000
Transfer to Kelly PARRY	287	1.00000	287.00000
Transfer to Pauline WINCHESTER	60	1.00000	60.00000
Transfer to Pat KENNY	42	0.06322	2.65524
Transfer to Kelly PARRY	48	0.06322	3.03456
Transfer to Pauline WINCHESTER	51	0.06322	3.22422
No further preference	243	1.00000	243.00000
No further preference	212	0.06322	13.40264
Not transferred due to rounding			0.00000
	Total		773.31666

This report contains the transfers results.

Stage 6 - Exclusion of Pat KENNY

1,370.59230

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Kelly PARRY	1,185	1.00000	1,185.00000
Transfer to Pauline WINCHESTER	10	1.00000	10.00000
Transfer to Kelly PARRY	144	0.06322	9.10368
Transfer to Pauline WINCHESTER	4	0.06322	0.25288
No further preference	162	1.00000	162.00000
No further preference	67	0.06322	4.23574
Not transferred due to rounding			0.00000
	Total		1,370.59230